In [1]:

In [2]:

Out[2]:

In [3]:

In [4]:

import matplotlib.pyplot as plt
import numpy as np
import pandas as pd

FAYLY) : A 2% n BESTIERDOROD S HEXIHE

# a4 % n ERITE., ROESEFAEE F 205 F (£ n EOEEAIZRADIZEARTLY)
n=12
nCoin=[]
for i in range(0,n):
i f np. random. rand (1)<0.5:
Z=0
else:
=1
nCoin. append (Z)
nCoin=np. array (nCoin) # J4 VBIFOHEEEZT7LAIZLTEL
SM=nCoin. mean () # n EFROROEXEE BATY)
SM

0. 3333333333333333

FAEIDORHZS =1L —>3 > THARS

# Sample Mean MED K SIZHHT E2HhZEFARS
tnEOIA4UBRITEZHERYIRLT SN DIEZIET S
# n=16 # 1T TIRSA34 > DE% (FTIZEEZLTLD)
T= 5000 # FS5A4T7ILE
SM_list=1]
for i in range(T):
nCoin=[]
for j in range(n):
i f np. random. rand (1)<0.5:
Z=0
else:
Z=1
nCoin. append (Z)
nCoin=np. array (nCoin) #aaUBRITOBREZT7LAICLTEL
SM=nCoin. mean () # n EFROROERBEE BERTFH)
SM_list=SM_list +[SM]
SM_list=np.array (SM_list) # ZLAIZLTH L EEF

# SM_list # RHZEARL



In [6]: # SM_list @O%#r (1) EX RIS L
F,x,_ = plt. hist(SM_list,
range= (=1/ (2xn), 1+1/(2%n)), # MEZIEE

bins=n+1, i BEHREERE
color="red’, # BEIETE
alpha=0. 5, t BEDES (0~1)
ec="k') i BIZREEDTS (k=black)
plt. xticks (np.arange (0,1.1,0.5)) # x#EmD EE
plt. show()
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In [6]: # #ExtE$k (relative frequency) #3R& 3
RF=F/T
RF

Out[6]: array([0.001 , 0.003 , 0.0144, 0.05 , 0.1202, 0.1994, 0.2218, 0.1958,
0.12 , 0.0548, 0.0158, 0.0034, 0.0004])

In [7]: # AREHOER NI T LA
# plt. figure(figsize=(6,4))
xs=np. arange (0, 1+1/ (2%n) , 1/n)  # x #HD B LI H
plt. bar (xs, RF, width=1/n, color="red", alpha=0.5, ec="black")
plt. xticks (np.arange(0,1.1,0.5)) # x#DHBERT

Out[7]: ([<matplotlib.axis.XTick at 0x21b2cf08970>,
<matplotlib. axis. XTick at 0x21b2¢cf08940>,
<matplotlib. axis. XTick at 0x21b2cf044c0>],
[Text(0, 0, '"), Text(0, 0, ""), Text(0, 0, "")1)
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In [8]: # BEBE#ELTHEFEXNISL (Z2EE=1)
# plt. figure(figsize=(6,4))
# xs=np.arange (0, 1+1/(2*n), 1/n) # x BADBREZA (FTIZEEZLIZEDLEL)
plt. bar (xs, RF*n, width=1/n, color="red’, alpha=0.5,ec="black’) # EEMNIIZLHE LD IZHthELE
plt. xticks (np.arange(0,1.1,0.5)) # x#DEHET

Out[8]: ([<matplotlib.axis.XTick at 0x21b2¢cf76a90>,
<matplotlib. axis. XTick at 0x21b2¢cf76a60>,
<matplotlib.axis. XTick at 0x21b2¢cf715e0>],
[Text(0, 0, "), Text(0, 0, '"), Text(0, 0, '")1)
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In [9]: from scipy import stats # #st54 751 = {EH
# — RO SERTHDOEHE = n (BFH), 28 = s"2/n (B5HE/n)
t ZTOFHEEDEEL DERS T ELERT S
# Ber (0.5)=B(1,0.5) MDF{E & 2EXE m=0.5, s72=0.25 =0.5"2
#t ERES% N, s"2/n)
m=0.5 t FHEDERE
s=0.5/np.sart(n) # {ZEREDERTE
X=stats.norm(m,s) # BE®DIE N, s"2) EIRXNFTA—2DFELAINELS

In [10]: # plt. figure(figsize=(6,4))
x=np. arange (0, 1, 0. 01) # x OEHFEDIEE. thm. Em. ZHE
plt.plot(x, X. pdf (x), color="blue")
plt. xticks (np.arange (0,1.1,0.1)) # x#EDEE%
plt. show()
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In [111: # Fitting
# plt. figure(figsize=(6,4))
plt. bar (xs, RF¥n, width=1/n, color="red", alpha=0.5,ec="black') # I alL—>3>
plt.plot(x, X. pdf (x), color="blue")
plt. xticks (np.arange (0, 1.1,0.1))  # x#ho HE
plt. show()
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SM DEGRAMES =L —>3 > LDHER

In [12]: # SM QOERSMIIEARWICZIES EMELEET H759)
# ZIH5% B(n,p) OEE
from scipy.special import comb #t HEEHEES

p=0.5 # NSA—FDERE
X_range=np. arange (n+1) #(KE) X OFHEIE 0 MAS n TTO n+l BEOEHK
def bin(x):

if x in x_range:

return comb (n, x) *pkkx*x (1-p) ** (n—x)
else:

return 0

BinProb = np.array([bin(x) for x in x_rangel) # x_range (E&H) D& x [CX L THEEE

In [13]: plt.figure(figsize=(6,4))
plt. bar (xs, BinProb, width=1/n, color="blue’, alpha=0.5, ec="black’)
plt. xticks (np.arange (0, 1.1,0.1)) # x#ho HE%
plt. show()
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In [14]:

In [15]:

#ER/EIAL—Ta DRR
# plt. figure(figsize=(6,4))

plt. bar (xs, BinProb, width=1/n, color="blue’,

alpha=0.5, ec="black’)

plt.bar (xs, RF, width=1/n, color="red , alpha=0.5, ec="black’)
plt. xticks (np.arange (0, 1.1,0.1))  # x#ho HE%
plt. show()
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HEBESIAL—2a VDL (B T7DEEFESICLT2D%T 5 LTERT)
# plt. figure(figsize=(6,4))

plt.bar (xs-1/ (4%n), BinProb, width=1/ (2xn), color="blue’,

alpha=0.5, ec="black’)

plt. bar (xs+1/ (4%n), RF, width=1/ (2%n), color="red , alpha=0.5, ec="black)
plt. xticks (np.arange (0, 1.1,0.1)) # x#ho HEE
plt. show()
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In [16]: # EpELEIIaL—a DR (U5 7%ME)
fig = plt. figure(figsize=(12,4))
ax1=fig. add_subplot(1,2,1) # #EEIT)T7% 1x2 IZREILTIEDOTUT
ax2=fig. add_subplot(1,2,2) # HWEIUT7% 1x2 [CHEILT2EDITYT
ax1. bar (xs, BinProb, width=1/n, color="blue', alpha=0.5, ec="black’)
ax2. bar (xs, RF, width=1/n, color="red’, alpha=0.5, ec="black’')
# axl.set_ylim([0,0.25]) y EZxHiz 5
# ax2.set_ylim([0, 0.25])

Out[16]: <BarContainer object of 13 artists>

0.20 0.20 4
0.15 1 0.15 1
0.10 0.10
0.05 1 0.05 1
0.00 - 0.00 -

In [17]: # B/ ETVIaAL—2arvDER (U572, W1HOMD vy BiERIZ 5)
fig = plt. figure(figsize=(12,4))
ax1=fig. add_subplot(1,2,1) # HETU 7% 1x2 [CHEILTIEDOTY 7
ax2=Tig. add_subplot (1,2, 2, sharey=ax1) # H#EET) 7% 1x2 IZHEILT2EDOIT) 7, vy #ld ax1 AL
ax1. bar (xs, BinProb, width=1/n, color="blue’, alpha=0.5, ec="black’)
ax2. bar (xs, RF, width=1/n, color="red", alpha=0.5, ec="black')

Out[17]: <BarContainer object of 13 artists>
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In [18]: # 22— 3  tEBRIEEDLE
RF, BinProb

Out[18]: (array([0.001 , 0.003 , 0.0144, 0.05 , 0.1202, 0.1994, 0.2218, 0.1958,
0.12 , 0.0548, 0.0158, 0.0034, 0.0004]),
array ([0. 00024414, 0.00292969, 0.01611328, 0.05371094, 0.12084961,
0.19335938, 0.22558594, 0.19335938, 0.12084961, 0.05371094
0.01611328, 0.00292969, 0.00024414]1))



In [19]: # DataFrame [Z L CTFH:R

pd. Series (RF)  # pandas ODEZFI|IZZEH#E
Out[19]: 0 0.0010
1 0.0030
2 0.0144
3 0. 0500
4 0.1202
5 0.1994
6 0.2218
i 0.1958
8 0.1200
9 0.0548
10 0.0158
1 0.0034
12 0. 0004
dtype: float64

In [20]: # DataFrame [ZL THxRT
RF_S=pd. Series (RF)  # pandas (DECH|IZZEHE
BinProb_S=pd. Series (BinProb)
Compar ison=pd. concat ([RF_S, BinProb_S], axis=1)
Compar ison

Out[20]:
0 1

0 0.0010 0.000244
1 0.0030 0.002930
2 0.0144 0.016113
3 0.0500 0.053711
4 0.1202 0.120850
5 0.1994 0.193359
6 0.2218 0.225586
7 0.1958 0.193359
8 0.1200 0.120850
9 0.0548 0.053711
10 0.0158 0.016113
11 0.0034 0.002930
12 0.0004 0.000244



In [21]: # DataFrame [Z L THRTF
RF_S=pd. Series(RF) # pandas MDEZFI(IZZEH#
BinProb_S=pd. Series (BinProb)
Compar i son=pd. concat ([RF_S, BinProb_S], axis=1)
Compar ison. columns=["Simulation’,  Theory’]

Compar ison
Out[21]:

Simulation Theory

0 0.0010 0.000244

1 0.0030 0.002930

2 0.0144 0.016113

3 0.0500 0.053711

4 0.1202 0.120850

5 0.1994 0.193359

6 0.2218 0.225586

7 0.1958 0.193359

8 0.1200 0.120850

9 0.0548 0.053711
10 0.0158 0.016113
11 0.0034 0.002930
12 0.0004 0.000244

In [22]: Comparison[ Difference’ ]=Comparison[’ Simulation’ ]-Comparison[’ Theory']

In [23]: Comparison

Out[23]:

Simulation Theory Difference

0 0.0010 0.000244  0.000756
1 0.0030 0.002930  0.000070
2 0.0144 0.016113 -0.001713
3 0.0500 0.053711  -0.003711
4 0.1202 0.120850 -0.000650
5 0.1994 0.193359  0.006041
6 0.2218 0.225586 -0.003786
7 0.1958 0.193359  0.002441
8 0.1200 0.120850 -0.000850
9 0.0548 0.053711  0.001089
10 0.0158 0.016113 -0.000313
1 0.0034 0.002930  0.000470
12 0.0004 0.000244  0.000156
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